3.0

2.4

1.2

0.6

$ODERODOB &R OH & 8O *

45

WRF8, Bias =
WRF9, Bia:
WRF10, Bias
WRF11, Bias =-022ms~1
WRF12, Bias = -0.41ms~1
WRF13, Bias = -0.34 ms~1
WRF14, Bias = -0.48 ms~ 1
WRF15, Bias =-0.23ms~1
WRF16, Bias =-0.43ms~1

(b)

\ 5.4

4.8

4.2

3.6

3.0

1.8

1.2

0.6

0.8.

0.6 12 1.8

3.6

42 4.8 5.4

20D ¢ RODOBEROEE 8 & *

Obs
WRF1, Bias =-0.29ms~1

WRF2, Bias
WRF3, Bias
WRF4, Bias
WRFS, Bias
WRF6, Bias =
WRF7, Bias
WRF8, Bias
WRF9, Bias =
WRF10, Bias
WRF11, Bias = -0.13m s~ 1
WRF12, Bias =-0.31ms~1
WRF13, Bias = -0.27 ms~1
WRF14, Bias = -0.4 ms~ 1

WRF15, Bias = -0.14 m s~ 1
WRF16, Bias = -0.33 m s~ 1

0.8»

0T

0.6 12 18 24 3.0 3.6 42

2.4 3.0
Standard deviation (m s

[V S

B

(c)

0

5.4

4.8

42

3.6

Standard deviation (m s71)

Obs
WRF1, Bias = -0.05 ms~1

*
*
3.0 ® WRF2, Bias = -028 ms~1
& WRF3, Bias = 0.09 ms~1
B WRF4, Bias =-021ms~1
2.4} & WRFS, Bias =-0.08 ms~1
#  WRF6, Bias =031 ms~1
& WRF7,Bias =0.04ms-1
18 B WRFs Bias=-025ms 1
® WRF9, Bias =0.12ms"1
@ WRFL0, Bia:
12l © WRF1LBia
) #  WRF12, Bia: \
& WRF13, Bia ! o
N v o
= 4 8
06/ o wrF1s, Bia |
% WRF16, Bias !
085 —GF 1z 185 2z 30 3§ 4z i 51 o

Standard deviation (m s~)



